AT (5%F4%)

9/23 A¥y1-)

Gir=7l} A RFR A Xk il = | A RFR BE Xk =1
«RIEHER
9:00 - N R : BB 9:00 - s
o | i as BiE VS EAWE ARL SR © | g 4s | MSSEE VS mkIAh LT
AR2 : HEF—1s
*RIEHD
9:55 ~ ] 9:55 - R : 152
yR T — BBI— ~
@ | _7i70o | muwk vs a2 MF s @ | _7i70, | mE- vs oxam oS
AR2 : HEF—1s
HRIEHER
11:00 “ R : 42D 11:00 - S
5 . B VST EEII- LT -1
® | ~11:45 s VS Mok ARL : TS O N ~11:a5 | MSEE Si W&J >
AR2 : HEF—1s
*RIFHR
11:55 | oo o s - 11:55 . R : B2
@ | o, 0| mAwr lvs we LT -1 @ | o, 0 | KA’ s mwkoqb ARL - 1o
AR2 : H5F—1s




